
https://www.certbus.com/1z0-1045-20.html
2024 Latest certbus 1Z0-1045-20 PDF and VCE dumps Download

 

 

 

1Z0-1045-20Q&As

Oracle Warehouse Management Cloud 2020 Implementation Essentials

Pass Oracle 1Z0-1045-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/1z0-1045-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1045-20 Dumps | 1Z0-1045-20 PDF Dumps | 1Z0-1045-20 Exam Questions                               1 / 7

https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html


https://www.certbus.com/1z0-1045-20.html
2024 Latest certbus 1Z0-1045-20 PDF and VCE dumps Download

QUESTION 1

Which two fields are mandatory to set up a carrier in the Carrier Set-Up UI, if you want to utilize Parcel Carriers to fulfill
orders? (Choose two.) 

A. Carrier Phone Number 

B. The Ship Via 

C. The Company 

D. The Carrier Type 

E. The Description 

Correct Answer: BD 

 

 

QUESTION 2

When creating an Appointment, which three "Matching value type" selections can be used to create the Appointment?
(Choose three.) 

A. License Plane Nbr 

B. Load Nbr 

C. Dock Door 

D. PO Number 

E. Advance Shipment Notification 

F. Trailer Nbr 

Correct Answer: BCD 

 

 

QUESTION 3

You want to wave three orders. Two orders had the same route number in the order header, and the other order didn\\'t
have a route number. You want to make sure the orders are assigned to the same load. What should you do or check? 

A. Change company parameter WAVE_ASSIGN_LOAD to One load per wave 

B. Change the Task selection criteria to be configured to assign by load. 

C. Add another route number to the third order. As long as they are waved together, they will be assigned to the same
load. 
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D. If they all have the same "Ship to Name" and "Ship to Address 1", they will be assigned to the same load. 

Correct Answer: A 

 

QUESTION 4

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.) 

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility. 

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility. 

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility. 

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility. 

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned. 

Correct Answer: ABE 

 

 

QUESTION 5

Your customer wants to use Advance Shipment Notification (ASN) created in WMS Cloud System for receiving without
RF gun and expects ASN to be verified. What are the two steps to complete the ASN receiving and verification
transaction? (Choose two.) 

A. Create a Blind IB plate number and palletize after receiving 

B. Create a Blind IB plate number and cartonize before receiving 

C. Assign a dock door to IB shipment 

D. Create an ASN from the IB license plate screen 

E. Verify the IB shipment 

Correct Answer: AC 

 

QUESTION 6

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN. 

Latest 1Z0-1045-20 Dumps | 1Z0-1045-20 PDF Dumps | 1Z0-1045-20 Exam Questions                               3 / 7

https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html


https://www.certbus.com/1z0-1045-20.html
2024 Latest certbus 1Z0-1045-20 PDF and VCE dumps Download

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN. 

B. Set the Summary Function for item to "Total" and check the Group By box for LPN. 

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item. 

D. Set the Summary Function for LPN to "Total" and check the Group By box for item. 

Correct Answer: A 

 

QUESTION 7

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification 

status mismatch. 

Which three are valid? (Choose three.) 

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively. 

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation. 

C. This error message will disappear if the RF screen parameter split-uom is left bank. 

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction. 

E. The from-IBLPN and the to-IBLPN might be received against the same ASN. 

Correct Answer: BCE 

 

 

QUESTION 8

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.) 

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud. 

B. ASN Qty and Purchase Qty do not match in WMS Cloud. 

C. ASN data is past the shipping date. 

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud. 

E. ASN file has invalid data format. 

Correct Answer: BDE 

 

QUESTION 9
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Identify two correct statements about ASN creation. (Choose two.) 

A. The ASN number can be system generated or manually entered. 

B. Oracle WMS Cloud allows creation of a single/multiple ASN from a PO. 

C. Oracle WMS Cloud only allows creation of a single ASN from a PO. 

D. The ASN number is always auto-generated from a sequence number. 

Correct Answer: AB 

 

QUESTION 10

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.) 

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order. 

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location. 

C. A received IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time. 

D. A batch number in the Batch Management UI has to be always linked to an expiry date. 

Correct Answer: AD  

 

QUESTION 11

What is the primary purpose of the Wave Template Search Screen? 

A. to identify all outbound loads that have not completed picking yet 

B. to determine how many picking tasks will be waved for picking 

C. to determine which available orders will be waved for picking 

D. to determine the locked locations for inventory allocation 

E. to determine from which part of the warehouse the inventory will be allocated 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E18727_01/doc.121/e13433/T211976T536591.htm 

 

QUESTION 12

The customer wants to change the items and quantities on an existing order in the WMS Cloud. Identify the method they
can use to achieve this. 
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A. The customer may send a "Cancel Order" transaction via integration just before the order is shipped. 

B. The customer may send a replacement order by sending a new order and referencing the original order in the "Order
Number to Replace" field prior to shipping of the original order. 

C. Once the order is Shipped Confirmed, the customer may adjust the items and quantities via their maps. 

D. The customer may change the items on the Order in the UI at any order status. 

E. The order cannot be changed and must be processes as is. 

Correct Answer: B 

 

QUESTION 13

You have hired a new employee to do picking in the warehouse. The employee complains that he/she cannot work
because the RF Picking transactions is not displayed as one of the RF options. Which two scenarios will cause the
transaction to be missing as an RF option in the user\\'s menu? (Choose two.) 

A. The RF Picking transaction is not associated with her/his group\\'s assigned RF Menu. 

B. The employee\\'s Group has a blank RF Menu. 

C. The employee is assigned to the "Supervisor" group. 

D. The employee\\'s email is not set up in his/her user profile. 

E. The employee has forgotten his/her password. 

Correct Answer: AB 

 

QUESTION 14

Select three statements are true. (Choose three.) 

A. Appointments can be used (instead of IB loads) as a way of checking in Loads into the WMS Cloud for receiving. 

B. The Duration as specified cannot be exceeded by the users. 

C. Appointments cannot be used to track lead-time from the trailer\\'s check-in time to the receipt of the first LPN into the
system. 

D. The matching value type and matching value must be specified when the appointment is created. 

E. Appointments are useful for tracking time discrepancies in various metrics such as planned and actual arrival time. 

Correct Answer: ADE 

Reference: 

https://learn.oracle.com/ords/launchpad/learn?page=inboundoverviewand context=0:44112:44122#h2_004 

 

Latest 1Z0-1045-20 Dumps | 1Z0-1045-20 PDF Dumps | 1Z0-1045-20 Exam Questions                               6 / 7

https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html


https://www.certbus.com/1z0-1045-20.html
2024 Latest certbus 1Z0-1045-20 PDF and VCE dumps Download

QUESTION 15

Identify two scenarios in which the user can select the "Release Pick Info" option in the Wave Inquiry UI to generate the
wave information for MHE systems. (Choose two.) 

A. after wave picking has started for all allocations (alloc_qty>packed_qty, but packed_qty>0) 

B. if all the lines are picked (if allocations packed qty=alloc qty) for all the allocations 

C. after wave picking has started, but some allocations have not been picked yet (allocations having packed_qty=0) 

D. packed_qty not evaluated when sending Wave Pick Info 

E. if picking has not started for the wave 

Correct Answer: AC 

Latest 1Z0-1045-20 Dumps 1Z0-1045-20 PDF Dumps 1Z0-1045-20 Exam
Questions

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-1045-20 Dumps | 1Z0-1045-20 PDF Dumps | 1Z0-1045-20 Exam Questions                               7 / 7

https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
http://www.tcpdf.org
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html
https://www.certbus.com/1z0-1045-20.html

